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1 | 0776576 | 4.064280 | 0.262631 | 0.870761 13 | 0.037358 | 28.805106 | 1.976676 | 0.862755
2 | 0.603070 | 4.261253 | 1.087426 | 0.489622 14 | 0.029012 | 36.497967 | 0.424871 | 0.976718
3 | 0468329 | 4.603580 | 1.608439 | 0.301223 15 | 0.022530 | 46.408368 | 0.871489 | 0.962443
4 | 0363693 | 5.113265 | 0.015287 | 0.994021 16 | 0.017496 | 59.173350 | 1.764649 | 0.940357
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8 | 0132273 | 9.692422 | 1.939321 | 0.599827 20 | 0.006363 | 159.160529 | 0.359291 | 0.995485
9 | 0.102720 | 11.837959 | 0.075654 | 0.987218 21 | 0.004941 | 204.373105 | 1.991069 | 0.980515
10 | 0.079770 | 14.615884 | 1.423846 | 0.805165 22 | 0.003837 | 262.594282 | 0.179142 | 0.998636
11 | 0.061947 | 18.204761 | 1.299284 | 0.857259 23 | 0.002980 | 337.566531| 1.219481 | 0.992775
12 | 0.048107 | 22.835285 | 0.134789 | 0.988195 24 | 0.002314 | 434.109090| 1.497181 | 0.993102
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(D)
a=07

1
Fn aFn ¢ +a|:n(p +2 COSFn (’D +1 p2

1 | 4.778598 0.262631 0.890080
2 | 7.720607 1.087426 0.718306
3 | 15116670 | 1.608439 0.787197
5
8

74.25672 1.843755 0.950341
944.0470 1.939321 0.995891
13 | 68058.11 1.976676 0.999942
21 | 641119794 | 1.991069 0.99999994
QUO.7)=Pox(2) - Tt AL A ET IO

2 a=09
F, | a™m +aF1“"’ +2 | cosF, @ +1 p
1 4.064280 0.262631 0.870761
2 4.261253 1.087426 0.489622
3 4.603580 1.608439 0.301223
5 5.823073 1.843755 0.366741
8 9.692422 1.939321 0.599827
13 28.805106 1.976676 0.862755
21 204.373105 1.991069 0.980515
34 5418.94017 1.996586 0.999263
55 1096218.200 1.998695 0.999996

Q(0.9)=Pog(3) R Ao RIFL AatI I f5
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3)

(4)

a=0.99

Sk

e

F, | a™ +a,3;1 -+2 | cosF, ¢ +1 p?
1 | 4.000581824 | 0.262631122 0.868704
2 |4.002327633 | 1.087425725 0.456603
3 | 4.005238444 | 1.608438861 0.196832
5 14.014562524 | 1.843755295 0.081466
8 | 4.037350589 | 1.939321296 0.03931
13 | 4.099131702 | 1.976675774 0.035564

21 | 4.262104686 | 1.991069413 0.065687

34 | 4.711105069 | 1.996585674 0.152392

55 | 6.033671779 | 1.998695385 0.337486

89 | 10.67360332 | 1.999501614 0.625337

144 | 34.2753639 | 1.999809624 0.883309

233 | 277.910032 |1.999927281 0.985607

377 | 8898.42306 |1.999972224 0.99955

610 | 2454582.09 | 1.99998939 0.999998

Q(0.99) =Po.ge(13) » Rl Ac==FISL Ads ﬁ[:ﬂjﬁ’mﬁ\j} 3

TIFIFS @ B S Y Q) TR QU 7 2 R
Fh-le.) 1
=4 (1 coskn1 ¢ +1 i +aFn Tl FE=flIpA =~ R
cosFhp +1 aF”“‘)JraFlm)JrZ - [
a=0.7
1 N

Fo | 8™ 45Fmr+2 | cosFng+1 p? a2 cosF 1 g 41
T | a7reses | ozezeal | oswoso | & rawr | et
2 7.720607 1.087426 0.718306 0.618941 > 0.241516
3 | 15.116670 1.608439 0.787197 0.510735 < 0.676075
5 74.25672 1.843755 0.950341 0.203573 0.872371
8 944.0470 1.939321 0.995891 0.078658 0.950722
13 | 68058.11 1.976676 0.999942 0.013871 0.981102
21 | 64111979.4 | 1.991069 | 0.99999994 0.001062 0.992771

QO.7)=Por(2) » FUL AL Ap AU
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(5)

(6)

== aF”"’+aF1w+2 cosF,, ¢ +1 p? aFn_luaF”l'l‘“+2 cosFn1 ¢ +1
T | aoeam0 | ozozear | osiorer | ez | Ot
2 | 4261253 | 1087426 | 0.489622 0.953776 0.241516
3 | 4603580 | 1608439 | 0.301223 0925639 > 0.676075
5 | 5823073 | 1843755 | 0.366741 0790576 < 0.872371
8 | 9692422 1939321 | 0599827 0.600786 0.950722
13| 28805106 | 1976676 | 0.862755 0.336483 0.981102
21| 204373105 | 1.991069 | 0.980515 0.140944 0.992771
34| 541894017 | 1.996586 | 0.999263 0.037715 0.997237
55 | 1096218200 | 1.998695 |  0.999996 0.004943 0.998945
Q0.9 —=Pos(3  FUL AR Ao fEIH
a=0.99
Fro, 1 2 U S
F. | a +a|:m+2 coskn ¢ +1 p a cosFn1p +1
1 | 4000581824 | 0.262631122 | 0.868704 g | a0
2 | 4002327633 | 1.087425725| 0.456603 | 0999564 | 0.241516
3 | 4005238444 | 1.608438361 | 0.196832 | 0999273 | 0.676075
5 | 4014562524 | 1.843755295 | 0.081466 | 0997677 | 0872371
8 | 4037350589 | 1.939321296| 0.03931 | 0994356 | 0.950722
13 | 4099131702 | 1.976675774 | 0.035564 | 0.984928 > 0.981102
21 | 4262104686 | 1.991069413 | 0.065687 | 0.961762 < 0.992771
34 | 4711105069 | 1.996585674 | 0.152392 | 0904693 | 0.997237
55 | 6.033671779 | 1.998695385 | 0.337486 | 0780802 | 0.998944
89 | 10.67360332 | 1.999501614 | 0.625337 | 0565289 | 0.999597
144| 342753639 | 1.999809624 | 0.883309 | 0311407 | 0.999846
233| 277.910032 | 1.999927281| 0.985607 | 0.123333 | 0.999941
377 8898.42306 | 1.999972224| 0.99955 | 0031231 | 0999978
610| 2454582.09 | 1.99998939 | 0.999998 | 0999564 | 0.241516

Q(0.99) =Poss(13) » Sl AL Asa A pup 5
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